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MAT 1275 Final Exam review sheet

#1 Solve for x (simplify completely):
a) 6x° -2x-3=0 b) 2x2 —4x+5=0 ¢) 2xX° +2x=-3

#2 Graph the function and label the vertex and the x- and y- intercepts with numbers or coordinates:

C()y:XZ—ZX—3 b)y:x2+2x C) yz_x2+4x_2
2 1 1 1
T . N —+= 3_
#3 Simplify the complex fractions: a) ¥y~ Y b) X ¥y c) _ 2x
41 E_i 2+i
y: oy y X x?

#4 Find the center and radius of each circle, and sketch the graph, labelling four points on the circle with coordinates:
a) x> +y2 —6x+4y—4=0 b) x% +y? +8x—2y—8=0 c) x? +y% +10x+6y+18=0

#5 Perform the indicated operations involving Complex Numbers and express in standard complex form:

Q) (—2+3i)(5-7i) b) (4-9i)X3-2i) ¢) Simplify: % d) Simplify: %
- |
#6 Solve the following system of equations for x, y and z:
3x+2y-z =4 —-2x+5y+ 2z =8 2x -3y + z =-9
a)2x -y +2z= 10 b) x-2y-3z=-13 c) 3x +by+2z=16
X +3y-4z=-7 Xx+3y-z =5 -4x+2y-3z=4
#7 Solve each of the following for x and y:
x?+y?=5 x?-y?=3 x?+y?=8
a) ) b) ) a .,
xX-y =-3 2x+y° =5 X -y=2

#8 For the information given, find the values for the five remaining trig functions for 6:

a) Sinezgand Tan®>0 b) Tan®=2 and CosO<0 ¢) CscO=-3 and CosO>0

#9 Given each AABC, answer each of the following (round each answer to nearest tenth):
a)Ifa=12,b=8and c=5. Find £C b)If LA=50", ZB=75",a= 20. Find side b.

c)Ifb=9,c=6and ZLA=67". Find side a. d)If «€=37", «B=79°,b = 13. Find side a.
#10 Prove each of the following Trig Identities:

1
Cosx Secx

a) Cos x +Sinx-Tanx = Sec x b) Cscx — Sinx =Cot x - Cosx =Tanx - Sinx

d) Cscx-Cotx - Secx =1+ Cot?x e) Sinx- Tanx-Cosx =1— Cos?x f) Cscx - Secx = Cot x + Tanx



#11 Solve the following Equations for x, where O<x<2m:
a) 4Sinx+2=0 b) 6Cosx-3=0 c) 2Tanx-2=0 d) 6Tanx=-2V3

#12 Solve to the nearest tenth:
a) 3*=38 b) 2 =19 c) 4=7 d) 5* =29

#13 Evaluate the following without the use of a calculator:
a) log, 163/2 b) Iog3é ¢) log, 64 d) logs V5



Answers to questions:

#1 o lig/ﬁ b) 512\/7

#2 a) Vertex: (1, -4) b) Vertex: (-1, -1)

b) 2y + X
4-y 3x—4y

#4 a) Center: (3,-2); Radius:r=3 b) Center: (-4, 1) ; Radius:r=5

#5 q) 11+29i b) — 6 35i Q) g%a

#6 a) x=3,y=-2,z=1 b) x=3,y=2,z=4

#7 a) (-2,1),(-2,-1),(1,2),(1,-2)

#8 a) c°se:§ Tan6 = SecS:% Cscezg CotO =

’

Hlw
w|pH

’

b) sing——2--295 (g 1 5

J5 5 /5 5.
242 342

0 sme=—§ Cos6-222 seco-332 Tan6-——1 Cot@=—242

2
3 242
#9 a) £C=17.6 b) b=25.2

#10 LHS = Left Hand Side.  RHS = Right Hand Side.

Sin’x _ Cos’x+Sin’x 1

Cosx Cos x Cosx

Sinx
a) LHS: Cosx + Sinx- > = (Cosijosx+
Cosx Cosx

b) (2,1), (2,-1), (4,J13), (4,J13)

SecO=-+5 CscH=-

c) a=856

= Secx

1+J/6
5

¢) Vertex: (2, 2)

x(6x-1)
2(2x% +1)

6x% —x
4x% 12

c) Center: (-5, -3) ; Radius:r=4

22 29.
d) —E—EI

c) x=-1,y=3,z=2

c) (-2,2),(2,2)

@ CoTe:1
2 2

d) a=119

1 Sinx| 1-Sin’x Cos’x ¢
b) LHS: Csc x — Sinx = %—Sinx( jz M X o208 X 295X Cosx = Cotx - Cosx

Sinx )" sinx  Sinx  Sinx

1 1 1 Cosx ( Cosx )| 1-Cos’x Sin’x Sinx
otHs: L.t [ j _Sin'x
Cosx Secx Cosx 1 | Cosx Cosx  Cosx Cosx
Sin2x Cos2x 2Sinx- 2Cos’x -1 2Cos? 1
d) LHS: u. G B} Sm>’< Cosx :ZCosx—( Cos’x
Sinx Cosx Sinx Cosx Cosx  Cosx
2T 2Tanx _ 2Sinx 1 2Sinx Cos’®
e) RHS: anx_ - a? - o —= Sinx Cos x =2Sinx- Cosx = Sin2x
1+ Tan®x Sec’x Cosx Cos’x  Cosx 1
Cos2 Cos’x — Sin’ Cos’® in? Cosx Sj
f) LHS: os2x _ Cos'x Sin X_ oS X . Sinx _Cosx Sinx
Sinx-Cosx  Sinx-Cosx Sinx-Cosx Sinx-Cosx sinx Cosx

j: 2Cosx — (ZCosx -

- Sinx = Tanx - Sinx

1
COSX) " Secx

= Cotx — Tanx



Answers to questions (continued):

_Im lm _m om
#11 a) x="7, = by x=3. 3
#12 a) x=3.3 b) x=4.2
13
#13 a) a2 -2 b) -2
3 3

d) x=21

1
d) =
)2



